# Journées ÉQUATIONS AUX DÉRIVÉES PARTIELLES 

ARI Laptev<br>Yu Safarov<br>\title{ Global solution of the wave equation }<br>Journées Équations aux dérivées partielles (1990), p. 1-9<br><http://www.numdam.org/item?id=JEDP_1990<br>$\qquad$ A18_0>

© Journées Équations aux dérivées partielles, 1990, tous droits réservés.
L'accès aux archives de la revue «Journées Équations aux dérivées partielles » (http://www. math.sciences.univ-nantes.fr/edpa/) implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/legal.php). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

## Global solution of the wave equation <br> by <br> A.Laptev and Vu.G.Safarov

Let $M$ be a $C^{\infty}$ Riemannian manifold, $\operatorname{dim} M=n$. In the present paper we consider the Cauchy problem for the wave equation
$\left\{\begin{array}{l}\left(\frac{1}{i} \partial_{t}+\sqrt{-\Delta}\right) u(t, x, y)=0 \\ u(0, x, y)=\delta(x-y),\end{array}\right.$

$$
x, y \in M, t \in[0, \infty[
$$

where $\Delta$ denotes the Laplace-Beltrami operator on $M$. Let $\left\{g^{i j}\right\}$ be components of the metric tensor $g$ on $M, h(x, \xi)=\left(\Sigma g^{i j} \xi_{i} \xi_{j}\right)^{1 / 2}$ be a smooth function on $T^{*} M \backslash 0$.

Let us introduce a smooth homogeneous canonical transformation $G^{t}$ defined by the Hamiltonian flow generated by the Hamiltonian system of equations
(1) $\frac{d}{d t} x=h_{\xi}, \frac{d}{d t} \xi=h_{x}$,
with initial conditions $x(0)=y, \xi(0)=\eta,(y, \eta) \in T^{*} M . S_{0} G^{t}: T^{*} M \rightarrow T^{*} M$ and $G^{t}(y, \eta)=\left(x^{*}, \xi^{*}\right)=\left(x^{*}(t, y, \eta), \xi^{*}(t, y, \eta)\right)$,
where $\left(x^{*}, \xi^{*}\right)$ is the solution of the system (1)
We consider a family of Lagrangian manifolds
$\Lambda^{t}=\left\{(x, \xi),(y, \eta):(x, \xi)=G^{t}(y,-\eta)\right\} \subset T^{*} M \times T^{*} M$,
smoothly depending on the parameter $t$.
Definition. We say that function $\varphi \in C^{\infty}\left(\mathbb{R}^{\prime} \times M \times\left\{T^{*} M \backslash 0\right\}\right)$ parametrizes $\Lambda=U_{t \geqslant 0}$ $\Lambda^{t} f$
(2) $\quad \Lambda^{\mathrm{t}}=\left\{\left(\mathrm{x}, \varphi_{\mathrm{x}}\right),\left(\mathrm{y}, \varphi_{\mathrm{y}}\right) ; \varphi_{\eta}=0\right\}$
and $\varphi$ is non degenerate, homogeneous phase function of positive type, such that differentials $d \varphi_{\eta_{j}}, j=1, \ldots, n$ are linearly independant (we use the terminology from [1, v. IV])

In this paper we construct a global (for all $t$ ) phase function parametrizing $\Lambda$ and as a result we can modulo smooth functions represent the Schwartz Kernel of
the operator $\exp (-\mathrm{it} \sqrt{-\triangle}$ ) as a simple oscillatory integral. It was thought for a long time that Lagrangian manifolds in general do not allow a global parametrization of the type (2). This is apparently the case if the phase function $\varphi$ is real. We introduce here function $\varphi$ which is a complex-valued function and $\operatorname{Im} \varphi \geqslant 0$. Computation of the principal symbol of the amplitude allows us to introduce 1 -form $\Omega$ and to interpret the Maslov class as an element in the de Rham cohomology group. The value of this class on a closed curve gives the value of the Maslov index of the curve. (an analogous definition has been given by V. Arnold [2] only for the Lagrangian Grassmannian).

Complex phase functions have been applied to different problems earlier, see [3], [4], [5]. General method concerning homogeneous Lagrangian manifold was given in [6]. Some analogues one can also find in [7], [8]

## Construction of the global phase function

Let $\Gamma$ be a linear symmetric Levi-Civita connection corresponding to Riemannian metric $g, \Gamma_{j k}^{i}=\Gamma_{j k}^{i}$ be the Christoffel symbols of the connection $\Gamma$.

For sufficiently close points $x \in M, y \in M$ let us denote by $\gamma_{x, y}(\tau)$ the "shortest" geodesic connecting $x$ and $y$. We shall choose the parameter $\tau$ such that $\gamma_{x, y}(0)=x, \gamma_{x, y}(1)=y$. Put $v(x, y)=\gamma_{x, y}(0) \in T_{x} M$. Denote by $\Phi_{x, y}$ the parallel transport from $T_{x}^{*} M$ into $T_{y}^{*} M$ along the geodesic $\gamma_{x, y}$. In the normal system of coordinates with centre $x$ this operator can be represented by $n \times n$ matrix. We denote this matrix by $\phi(x, y)$.

Lemma 1: If $\mathrm{x} \rightarrow \mathrm{y}$ then

$$
\phi(x ; y)=I+0\left(|x-y|^{2}\right) .
$$

Proof. In the normal system of coordinates $y=\left(y^{1}, \ldots, y^{n}\right)$ the components $\phi_{j}^{i}(x, y)$
satisly the following equations

$$
\begin{aligned}
& \sum_{k}\left(y^{k}-x^{k}\right) \partial_{y^{k}} \phi_{j}^{i}(x, y)=\sum_{k} \Gamma_{k, j}^{\ell}(y)\left(y^{k}-x^{k}\right) \phi_{\ell}^{i}(x ; y) \\
& \left.\phi_{j}^{i}(x ; y)\right|_{y=x}=\delta_{j}^{i} .
\end{aligned}
$$

Since $\Gamma_{k j}^{\ell}(x)=0$ is the normal system of coordinates, it implies that $\left.\partial_{y k} \phi_{j}^{i}(x, y)\right|_{y=x}=0$. Lemma is proved.

Lemma 2 In an arbitrary system of coordinates

$$
\begin{aligned}
& \xi^{*}(t, y, \eta) . x_{\eta_{k}}^{*}(t, y, \eta)=0, k=1, \ldots, n \\
& \xi^{*}(t, y, \eta) . x_{y}^{*} k(t, y, \eta)=\eta_{k}, k=1, \ldots, n
\end{aligned}
$$

where $\left(x^{*}, \xi^{*}\right)=G^{t}(y, \eta)$.

Proof. If we consider $\partial_{\eta_{k}}$ and $\partial_{y} k$ as vector fields on $T^{*} M$, then

$$
\begin{aligned}
& \xi^{*} \cdot x_{\eta_{k}}^{*}=\left\langle\xi d x, d G^{t}\left(\partial_{\eta_{k}}\right)\right\rangle \\
& \xi^{*} \cdot x_{y^{k}}^{*}=\left\langle\xi d x, d G^{t}\left(\partial_{y}^{k}\right)\right\rangle
\end{aligned}
$$

Since the transformation $G^{t}$ preserves the canonical 1 -form $\boldsymbol{\xi} d x$, it follows that

$$
\begin{aligned}
& \xi^{*} \cdot x_{\eta_{k}}^{*}=\left\langle\eta d \eta, \partial_{\eta_{k}}\right\rangle=0 \\
& \xi^{*} \cdot x_{y^{k}}^{*}=\left\langle\eta d y, \partial_{y^{k}}\right\rangle=\eta_{k} .
\end{aligned}
$$

Thus the proof is complete

Lemma 3. In an arbitrary system of coordinates
(3) $x_{\eta_{k}}^{*} \cdot \xi_{\mathrm{y}}^{*} e^{-} \xi_{\eta_{\mathrm{k}}}^{*} \cdot \xi_{\mathrm{y}}^{*} \mathrm{e}=\delta_{\mathrm{k} \ell}, \mathrm{k}, \ell=1, \ldots, \mathrm{n}$
(4) $\mathrm{x}_{\eta_{k}}^{*} \cdot \xi_{\eta_{l}}^{*}-\xi_{\eta_{k}}^{*} \cdot x_{\eta_{l}}^{*}=0, \quad \mathrm{k}, \ell=1, \ldots, \mathrm{n}$

## Proof

$$
\begin{aligned}
x_{\eta_{k}}^{*} \cdot \xi_{y}^{*} \ell-\xi_{\eta_{k}}^{*} \cdot x_{\eta_{\ell}}^{*} & =\left\langle d x \Lambda d \xi, d G^{t}\left(\partial_{\eta_{\ell}}\right) \Lambda d G^{t}\left(\partial_{y}^{\ell}\right)\right\rangle= \\
& =\left\langle d y \Lambda d \eta, \partial_{\eta_{k}} \Lambda \partial_{y} \ell\right\rangle=\delta_{k \ell} .
\end{aligned}
$$

By analogy

$$
\begin{aligned}
& x_{\eta_{k}}^{*} \cdot \xi_{\eta_{l}}^{*}-\xi_{\eta_{k}}^{*} \cdot x_{\eta_{l}}^{*}=\left\langle d x \Lambda d \xi, d G^{t}\left(\partial_{\eta_{l}}\right) \Lambda d G^{t}\left(\partial_{\eta_{l}}\right)\right\rangle \\
& =\left\langle d y \Lambda d \eta, \partial_{\eta_{k}} \Lambda \partial_{\eta_{\ell}}>=0 .\right.
\end{aligned}
$$

Lemma is proved.

Let $|.|_{\mathrm{y}}$ be the length of the covector (vector) from $\mathrm{T}^{*} \mathrm{M}\left(\mathrm{T}_{\mathrm{y}} \mathrm{M}\right)$ in the metric g. We introduce the following functions, which are positively homogeneous of degree 1 in $\eta$.

$$
\begin{align*}
& \varphi_{1}(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta)=\xi^{*}(\mathrm{t}, \mathrm{y}, \eta) \cdot v\left(\mathrm{x}^{*}(\mathrm{t}, \mathrm{y}, \eta), \mathrm{x}\right) \\
& \varphi_{2}(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta)=\frac{1}{2}\left|\nu\left(\mathrm{x}^{*}(\mathrm{t}, \mathrm{y}, \eta), \mathrm{x}\right)\right|^{2} \mathrm{x}^{*}(\mathrm{t}, \mathrm{y}, \eta) \cdot|\eta|_{\mathrm{y}} \\
& \varphi(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta)=\varphi_{1}(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta)+\mathrm{i} \varphi_{2}(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta) \tag{7}
\end{align*}
$$

Here it is enough for us to define the function $v$ for points $x^{*}, x \in M$ sufficiently close to each other. However we do not lose anything if we continue $v$ by a smooth non-zero function outside a neighborhood of diag ( $M \times M$ )

Let us denote
(8) $Z_{k}=\xi_{\eta_{k}}^{*}-i|\eta|_{y} x_{\eta_{k}}^{*}$ and
(9) $Z=\left\{Z_{k}\right\}_{k=1}^{n}$

## Lemme 4

(10) $\partial_{\eta_{k}} \varphi(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta)=v\left(\mathrm{x}^{*}, \mathrm{x}\right) Z_{\mathrm{k}}+0\left(\left|\mathrm{x}-\mathrm{x}^{*}\right|^{2}\right)$,
(11) $\partial_{y} k \varphi\left(t, x^{*}, y, \eta\right)=-\eta_{k}$,
(12) $\partial_{\mathrm{x}} \mathrm{k} \varphi\left(\mathrm{t}, \mathrm{x}^{*}, \mathrm{y}, \eta\right)=\xi_{\mathrm{k}}^{*}$,
(13) $\left(\nabla_{x} \varphi\right)_{\eta_{k}}\left(t, x^{*}, y, \eta\right)=Z_{k}$.

Proof. In the normal system of coord inates with centre x

$$
v\left(\mathrm{x}^{*}, \mathrm{x}\right)=-\phi_{\mathrm{X}, \mathrm{x}^{*}} v\left(\mathrm{x}, \mathrm{x}^{*}\right)=\phi\left(\mathrm{x} ; \mathrm{x}^{*}\right)\left(\mathrm{x}-\mathrm{x}^{*}\right)
$$

In view of Lemmas 1 and 2 we obtain that

$+O\left(\left|x-x^{*}\right|^{2}\right)$

Now, in an arbitrary system of coordinates
(15) $\partial_{\eta_{\mathrm{k}}} \varphi_{2}=-\mathrm{i}\left(\mathrm{x}_{\eta_{\mathrm{k}}}^{*}, v\left(\mathrm{x}^{*}, \mathrm{x}\right)\right)_{\mathrm{x}^{*} \cdot|\eta|_{\mathrm{y}}+O\left(\left|\mathrm{x}-\mathrm{x}^{*}\right|^{2}\right) \text {, }, ~, ~, ~}$
where (... $)_{x}$ is the scalar product of vectors (covectors) from $T_{x} M\left(T_{x}^{*} M\right)$ in the metric g. Combining (14) and (15) we have (10).

By analogy, in view of Lemma 2

$$
\partial_{y^{k}} \varphi\left(t, x^{*}, y, \eta\right)=-\xi^{*} \cdot x_{y_{k}}^{*}=-\eta_{k}
$$

In the normal system of coord inate with centre $\mathrm{x}^{*}$
$\partial_{\mathrm{x}}^{\mathrm{k}} \varphi\left(\mathrm{t}, \mathrm{x}^{*}, \mathrm{y}, \eta\right)=\partial_{\mathrm{x}} \mathrm{k}\left(\xi^{*}\left(\mathrm{x}-\mathrm{x}^{*}\right)+\frac{\mathrm{i}}{2}\left|\mathrm{x}-\mathrm{x}^{*}\right|_{\mathrm{x}^{*}}^{2}=\xi_{\mathrm{k}}^{*}\right.$.
By differentiation (14) and (15) with respect to $x$ we obtain (13).

Theorem 1. The function $\varphi$ is a non-degenerate phase function parametrizing $\Lambda$.

Proof. Assume first that the matrix Z introduced in (9) in non-degenerate. Then from (10) it follows that the condition $\varphi_{\eta}=0$ is equivalent to $\mathrm{x}=\mathrm{x}^{*}$ for x close to $\mathrm{x}^{*}$. In view of (11) and (12) we obtain that

$$
\left.\Lambda^{t}=\left\{\left(x, \varphi_{x}\right),\left(y, \varphi_{y}\right): \varphi_{\eta}=0\right\} \text { for } t \in[0, \infty]\right)
$$

Now it is clear that (13) implies
$\left.\left(\operatorname{det} \varphi_{x, \eta}\right)\right|_{\varphi_{\eta}}=0=\operatorname{det} Z \neq 0$,
and therefore the function $\varphi$ is a non-degenerate phase function.
To prove that the matrix Z is non-degenerate let us suppose first that $\lambda=\left(\lambda_{1}, \ldots, \lambda_{n}\right) \in \mathbb{R}^{n}$ and

$$
\sum_{k=1}^{n} \lambda_{k} Z_{k}=0
$$

where $Z_{k}$ are columns of $Z$, see (8). Then both real and imaginary parts are equal to zero
(16) $\sum \lambda_{k} \xi_{\eta_{k}}^{*}=0, \sum \lambda_{x} x_{\eta_{k}}^{*}=0$.

Multipling (3) by $\lambda_{k} \cdot \lambda_{\ell}$ after summation using (16) we have
$0=\sum_{k, \ell=1}^{n}\left(\lambda_{k} x_{\eta_{k}}^{*} \cdot \lambda_{\ell} \xi_{\mathrm{y}}-\lambda_{\mathrm{k}} \xi_{\eta_{k}}^{*} \cdot \lambda_{\ell} \mathrm{x}_{\mathrm{y}}\right)=\sum_{\mathrm{k}=1}^{\mathrm{n}} \lambda_{\mathrm{k}}^{2}$.
This implies $\lambda_{1}=\ldots=\lambda_{n}=0$. Now if $\lambda_{k}=a_{k}+i b_{k}, k=1, \ldots, n$, then from the
equation $\sum_{k=1}^{n} \lambda_{k} Z_{k}=0$ and (4) it follows that
$\sum_{k=1}^{n} \lambda_{k} Z_{k} \cdot \bar{Z}_{\ell}=\sum_{k=1}^{n} \lambda_{k} \operatorname{Re}\left(Z_{k} \cdot \bar{Z}_{\ell}\right)=0$ for $\ell=1, \ldots, n$.
This means that
$\sum_{k=1}^{n} a_{k} Z_{k} \bar{Z}_{\ell}=\sum_{k=1}^{n} b_{k} Z_{\ell} \bar{Z}_{\ell}=0$ for $\ell=1, \ldots, n$. So $\sum_{k, \ell=1}^{n} a_{k} Z_{k} \cdot a_{\ell} \bar{Z}_{\ell}=0$
$\sum_{k, \ell=1}^{n} b_{k} \cdot Z_{k} \cdot b_{k} \bar{Z}_{\ell}=0$
Since $Z_{k}$ are linearly independent over the set of real numbers we obtain that $a_{k}=b_{k}=0$ for $k=1, . ., n$.
Theorem 2. Modulo the smooth functions the Schwartz kernel of the operator $u(t)=\exp (-i t \sqrt{-} \triangle)$ can be written in the form
(17) $(2 \pi)^{-n} \int_{T_{y}{ }_{\mathrm{M}}} \mathrm{e}^{\mathrm{i} \varphi(\mathrm{t}, \mathrm{x}, \mathrm{y}, \eta)} \mathrm{a}(\mathrm{t}, \mathrm{y}, \eta) \mathrm{d} \eta, \mathrm{x}, \mathrm{y} \in \mathrm{M}, \mathrm{t} \in[0, \infty[$ where $\varphi$ is defined
in (7) and $\mathrm{a} \in \mathrm{C}^{\infty}\left(\mathbb{R}^{1} \times \mathrm{T}^{*} \mathrm{M}\right)$ is a classical amplitude with the principal symbol
(18) $a_{0}=(\operatorname{det} Z)^{1 / 2}$

Proof To prove this theorem we need only to find the principal symbol of the amplitude. The problem is reduced to solution of the transport equations. Let us assume that a is a classical amplitude function. Then
$\left(\frac{1}{i} \partial_{t}+\sqrt{-} \Delta\right) e^{i \varphi} a=$
$=\frac{1}{i} a_{t}+\left[\varphi_{t}+\mathrm{h}\left(\mathrm{x}, \nabla_{\mathrm{x}} \varphi\right)+\frac{1}{2 \mathrm{i}} \mathrm{h}_{\xi \xi} \varphi_{\mathrm{xx}}+\mathrm{O}\left(|\eta|^{-1}\right)\right] \mathrm{a}=$
$=\frac{1}{i} a_{t}+\left[\xi_{t}^{*} v-\xi^{*} x_{t}^{*}-i x_{t}^{*} v|\eta|+h\left(x, \xi^{*}+i v|\eta|+0\left(|v|^{2}|\eta|\right)\right.\right.$
$\left.+\frac{1}{2 i} h_{\xi \xi} \varphi_{x x}+0\left(|v|^{2}|\eta|\right)\right] a=$
$\frac{1}{i} \mathrm{a}_{\mathrm{t}}+\frac{1}{2}\left[\mathrm{~h}_{\mathrm{xx}} \nu . v+2 \mathrm{i} \mathrm{h}_{\mathrm{x} \xi} v . v|\eta|-\mathrm{h}_{\xi \xi} \nu v|\eta|^{2}+\frac{1}{\mathrm{i}} \mathrm{h}_{\xi \xi} \varphi_{\mathrm{xx}}+\mathrm{R}_{1}\right] \mathrm{a}$,
where $R_{1}=0\left(|v|^{3}|\eta|^{2}+|v|^{2}|\eta|+|v|+|v \| \eta|^{-1}\right)$, when $|\eta| \rightarrow \infty,|v| \rightarrow 0$.
Since $Z$ is non-degenerate we obtain that

$$
v e^{i \varphi}=\frac{1}{i} Z^{-1} \nabla_{\eta} e^{i \varphi}
$$

Formaly integrating by part we have
(19) $\left(\frac{1}{i} \partial_{t}+\sqrt{-\triangle}\right) u=$

$$
(2 \pi)^{-n} \int_{T_{y}^{* M}}\left[\frac{1}{i} a_{t}+\frac{1}{2 i} \operatorname{Tr}\left(Z^{-1} h_{x x} x_{\eta}^{*}+2 i Z^{-1} h_{x \xi} x_{\eta}^{*}-|\eta|^{2} Z^{-1} h_{\xi \xi} x_{\eta}^{*}\right) a+\right.
$$ $\left.h_{x x} \varphi_{x x}{ }^{a+} R_{2}\right] e^{i \varphi} d \eta$,

where $R_{2}=0\left(|v|^{2}|\eta|+|\eta|^{-1}\right)$. From the definitions (8), (9) of $Z$ we have

$$
\begin{equation*}
|\eta|^{2} Z^{-1} h_{\xi \xi} x_{\eta}^{*}=i|\eta| Z^{-1} h_{\xi \xi}\left(Z-\xi_{\eta}^{*}\right) \tag{20}
\end{equation*}
$$

Hamiltonian system of equations (1) implies

$$
\frac{d}{d t} x_{\eta}^{*}=h_{\xi \xi} \xi_{\eta}^{*}+h_{\xi x} x_{\eta}^{*}
$$

(21)

$$
\frac{d}{d t} \xi_{\eta}^{*}=-h_{x \xi} \xi_{\eta}^{*}-h_{x x} x_{\eta}^{*} .
$$

If we substitude (20) and (21) into (19) and put it equal to zero we obtain
the following equation for the principal symbol $a_{0}$ of the amplitude a

$$
\frac{d}{d t} a_{0}-\frac{1}{2} \operatorname{Tr}\left(Z_{t} Z^{-1}\right) a_{0}=0
$$

Therefore

$$
a_{0}=(\operatorname{det} Z)^{1 / 2}
$$

To finish the proof of the theorem 2 we should notice that further terms of the amplitude we obtain by solving recurrent system of transport equations.

Using the explicite formula for the principal symbol in oscillatory integral (17) we can now define the phase shift determined by the Maslov index.

Let us introduce 1 - form $\Omega$ on $\Lambda$
$\Omega=\frac{1}{2 \pi} \mathrm{~d}\left(\mathrm{agr} \operatorname{det}^{2} Z\right)$

Theorem 3 The 1 -form represents an element of the Maslov class in the de Rham cohomology group. The Maslov index of a closed curve on $\Lambda$ is equal to the integral of the form $\Omega$ over this curve.

## References

[1] L. Hörmander : The analysis of linear partial differential operators I-IV. Springer Verlag, Berlin, New York. Tokyo 1983-1985.
[2] V.I. Arnold : On a characteristic class entering into conditions of quantization. Funk Anal. i Prolozen v.1, 1967, 1-14.
[3] A. Melin and J. Sjöstrand : Fourier integral operators with complex-valued phase function. Springer Lecture Notes in Math. V459, 1974, 120-223.
[4] V.P. Maslov : The complex WKB method in nonlinear equations. Nauka, Moscow, 1977
[5] F. Treves : Introduction to pseudodifferential and Fourier integral operators. Volume 2 : Fourier integral operators. Plemum Press, New York and London 1980.
[6] A. Laptev and Yu. G. Safarov: Global parametrization of Lagrangian manifolds and the Maslov index. Preprint, Linköping University, Sweden, 1989.
[7] V.M. Babich and V.V. Ulin : Complex space-time ray method and "quasiphotons". Zapiski Nauch Sem. LOMI, v.117, 1981, 5-11.
[8] M.V. Karasev : "Connections on Lagrangian submanifolds and some problems of quasi-classical approximation". Zapiski Nauch. Semi. LOMI, v.172, 1989, 41-54.

